
LASTERN RAILWAY 

Witten examination for Junior Engineer/PWay 20% LDCE in level 6 Eng1neering department SOAH division 

TOTAL MARKS 100 Marks 
DURATION: 02 Hrs 

INSTRUCTIONS TO THE CANDIDATES SHftzart 
T: 

1 Total Marks for the written examination is 100 marks, Answers to objective type questions only in the OMR sheet provided. 

Questions no 101 to 110 are Rajbhasa Questions, which are optional. 

2 Duration of the written examina�ion is two hours 

Date of Examination 04-02-2023 

3 Each question caries 1 (one) marks. Deduction of 1/3 rd mark allotted to questions will be made for wrong answers 

4 All the columns in the fly-leaf should be properly filled up 

5 Indication of the name or any other identity of the candidate in the answer paper except in the columns provided on the 

fly-leaf of the answer sheet is strictly prohibited. 

6 Answering the objective questions only in the OMR sheets provided. Question to be answered in the OMR sheets using 

either blue ink pen or black ink pen. Instructions regarding marking in the OMR sheet are indicated in the OMR sheet. 

7 Use of Calculator, Logarithmic tables, etc. is strictly prohibited. 

8 Any type of Cutting, Overwriting, Erasing or alteration of answer will not be accepted. Zero marks will be given for 

having correction and over writing answer. 

9 Answers marked in the OMR sheet by darkening more than one ovals for a single question will not be evaluated. 

Ouestions are to be answered by marking in the OMR sheet. The marking of answer in the OMR sheet by darkening the 

ovals. The darkening of ovals should be done strictly as per the instructions of marking stated in the OMR sheet. Marking in 

the OMR sheet is not as per the instructions will not be evaluated. 

10. The candidates are not allowed to keep nobile phones/electronic gadgets, documents/papers with them in the 

examination hall. if any candidate is found in possession of the above mentioned items during the examination, his/her 
candidature willbe summarily rejected. 
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1. Railway land boundary pillars are fixed at interval of 
(a) 25m,b)50m, c) 75m, d) 100m. 

(a) 25 ter, b) 50 tez ) 75 tcr, d) 100 erI 

2. What is NBML is in TRC Analysis ? 
a) Numeric Block Management Limit, b) Need Based Maintenance Limit, c) Normal block Main Limit, 
d) None of the above. 

3. What does OMS Stand for 
a) Overhauling Main System, b) Oscillation Monitoring System, c) Overhauling Monitoring System, d) None of 
the above. 

4. In routes having sectional speed more than 110 KMPH JE/PWay (Sectional) must foot inspect 
the entire section once in 
a)7 days, b) 15 days, c)21 days, d) 30 days. 

a) 7 f4, b) 15 f, c) 21 f4, d) 30 faI 

5. For section having multiple lines SSE/PWay (1.C) must inspect the entire section by push trolley once in a) 15 days, b) 1 month, c) 2 months, d) 3 months. 

a) 15 f4 b) 1 48-, ) 2 H$H, d) 3 4I 

6. JE/PWay (Sectional) must do foot plate inspection once in 
aj7 days, b) 15 days, c)21 days, d) 1 month. 

a) 7 f, b) 15 fa, c) 21 f, d) 1 HHTI 

7SSE/PWay(IC) & JE/PWay(Sectional) must inspect all level crossing once in a)7 days. b) 15 days, c) 1 month, d) 2 months. 

a) 7 f2 b) 15 fa4, c) 1 4HI d) 2 uAI 
8. For curve> 2 degree SSE/JE/P. Way (Sectional) shall inspect once in a) 1month b) 3 month.c) 4 month.d) 6 month. 

a) 1 -H, b) 3 HÉTHI, ) 4 H614I, d) 6 He-1 
9. Private siding are to be inspected by SSE/ JE/P Way (Sectional) once in 
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a) 1 month, b) 2 months, c) 3 months, d)4 months. 

(a) 1 g, b) 2 41,. ) 3 HE, d) 4 HÉAI 

by rotation 

on rotation with SSE/P.Way(|.C) 



10 Which fish plate is used for joining two different rail section 

a) Joggled, b)1 m long fish plate, c) Combination fish plate, d) None of the above 

11. Check rail clearance provided at level crossing is 

a) 41-44, b) 41-47, c) 51-55, d) 51-57. 

a) 41-44, b) 41-47, ) 51-55, d) 51-57 

12. W/L board is provided at a distance of 
a) 600m, b)700m, c) 800m, d) 900m. 

a) 600 eR, b) 700 tcR, c) 800 tc, d) 900 ËC| 

13. Track circuit sections are insulated electrically from the track on either side by 
(a) Expansion joints, b) Switch expansion joints, c) Continuation joint, d) Glued joints. 

14. Minimum radius of curve for BG track is 
a) 100, b)150, c) 175, d) 200. 

a) 100, b) 150, c) 175, d) 200. 

15. Formation width for single line straight track for new work is a) 6250mm, b) 5870mm, c) 6850mm, d) 7850mm. 

a) 6250 fHt, b) 587o fit, c) 6850 fAit, d) 7850 fftI 
16. Maximum height above rail level for high level passenger platform is (a) 740mm, b) 76Omm, c) 840mm, d) 860mm. 

(a) 740 fi, b) 760 fr, c) 840 fAt, d) 860 fefti 

ahead of Level Crossing. 

17. Maximum clearance of check rail opposite nose of crossing (for T/O laid on 1673 mm gauge) is a) 41, b) 44, c) 45, d) 48. 

a) 41, b) 44, ) 45, d) 48 

18. Minimum height above rail for ROB's in section when 25 KV AC traction is used 

a) 4875mm, b) 5410mm, c) 6250mm, d) 5870mm. 

a) 487Smm, b)5410mm, c) 6250mm, d) 5870mml 

19. Minimum height above rail for FOB's in section when 25 KV AC traction is used 
(a) 4875mm, b) 5410mm, c) 6250mm, d) 5870mm. 

a) 4875mm, b) 5410mm, c) 6250mm, d) 5870mm 



20. For B1 class ,of LC.Gates the TVU of the gate is 
a) > 50000, b) 30000 to 50000, c) 25000 to 30000, d) 20000 to 25000. 

a) > 50000, b) 30000 50000, c) 25000 30000, d) 20000 25000 

21. In the skew level crossing the minimum angle of crossing between road and railway line is 
(a) 45°, b) 60°, c) 75°, d) 85° 

(a) 45°, b) 60°, c) 75°, d) 85° 

22. At all level crossing the gate shall be fixed_ 
a) Skew, b) Square, c) both of the above, d) none of the above. 

a) far®, b) af, ) 3ut ait, d) 3utiaa Aof TI 

23. What is the service life of 52 kg CMS crossing? 
a) 100 GMT, b) 150 GMT c) 200 GMT, 300 GMT 

a) 100 GMT, b) 150 GMT ) 200 GMT, d) 300 GMT 

24. What is the service life of PSC Sleeper on plane track ? 
a) 1000 GMT or 35 years whichever is earlier. b) 2000 GMT or 35 yearswhichever is earlier, c) 2000 
GMT or 25 years whichever is earlier d) 1000 GMT or 25 years whichever is earlier. 

a) 1000 GMT I3 Tf, a qgd i b) 2000 dfyut u 35 HIT, Gygt a, 

25. How much vertical wear is permissible on 52 kg rail section ? 
a) 6MM, b)8 MM, c) 13 MM, d) 10MM 

a) 6 HH, b) 8 VH4, c) 13 sHYH, d) 10 HQH 

26. Proposal for track renewal is initiated through 
a) IRWCMS, b) IRRBCS, C) IRPSM, d) TMS 

to the road. 

27. Cold weather patrolling shall start after rail temperature reaches. 
a) Td-20°Cb) Td-25°C) Td-30°C d) Td-10°C 

a) Td-20°C b) Td-25'C c) Td-30°C d) Td-10°C 

28. Who issues patrol chart for the hot /cold weather patrolling 
a) Chief Engineer b) DEN ) PWI In-charge, d) ADEN 
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a) 3 fbft, b) 5 forf, c) 10 frî, d) 20 fbft 

29. Maximum distance covered by patrolman in a day during monsoon patrolling shall not exceed 
a) 3km b) SKm, c) 1Okm,_d) 20 kn 

y25 



30. Hot weather patroling shall commence when rail temperature rises above 
a) Td +5, b) Td + 10, ) Td + 25, d) Td + 30 

a) Td +5, b) Td + 10, ) Td + 25, d) Td + 30 

31. Which module of TMS is used for ledger of PWI material accountals? 
a) Planning module b) Store module c) Asset module d) Miscellaneous module 

32. Joint inspection with S&T department of Point & Crossing is to be done once in rotation basis by SSE/P.Way (1.C) & JE/P.Way (Sectional) a) 1 month, b) 2 months, c) 3 months, d)4 months. 

a) 1 4-1, b) 2 H1, )3 HEH, d) 4 HI 
33 Where does induction training of new SSE, JE P.Way take place ? a) Divisional training centre, b) Zonal railway training centre, c) Zonalheadquarter d) IRICEN. 

34. Who is the lowest authorized level official to issue competency certificates to trolley man? 
a) PWI in-charge, b) Sectional PWI,c) ADEN, d) DEN 

35. What is the minimum visual standard for Gang mate? a) A3, b) B1, c) A1, d) C2 

a) 3, b) a0 1, c) 1, d) ît 2 

36 What is the duration of induction training of JE/SSE P.Way after promotion from P.Way categonv 
a) 6 months, b) 9 months, c) 1 year, d) 2 year 
a) 6 H$14, b) 9 H$0, c) 1 HIG, d) 2 HIG 
37. Who is authorized to permit passage of train over flooded cause wavs ? a) Keyman, b) Gang Mate, c) Station masters of adjacent stations,d) JE/SSE 

38. What is the speed of trains are allowed to pass in case of temporary diversion a) 10 kmph, b)15 krmph, ) 20 krnph, d) 5 kmph 

a) 10 faf afa ñ
, b) 15 forft ufa , ) 20 fà) ufa ue, d) 5 fbufl ufa uè 

Pway 

39. In the event of sudden heavy rainfall who organizes patrolling over affected length a) Keyman, b) Station master, c) PWI, d) Gang mate 

a) \, b) RT HRR, c) PWI, d) mie 
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40. What should be the minimum distance between two track machines when they are working in the 

same section 

a) 100m, b)200m, c) 300m, d) 400m 

a) 100 ite, b) 200 eR, c) 300 ËCT, d) 400 Ëtcr 

41. What is the maximum speed of material train when engine is pushing back 

a) S kmph, b) 10 kmph, c) 15 kmph, d) 20 kmph 

a) s faft ufa jei, b) 10 f>ft ufa teI, c) 15 fh ua tct, d) 20 fabrf yfa yct 

42. Rail dolly shall be protected by a flagman at a distance of 

a) 30m, b) 45m, c) 60m,d) 1200m 

a) 30 eR, b) 45 iCR, c) 60 ftR, d) 1200 Ëcr 

43. What is the maximum life of detonator after subsequent testing 
a) 5 years, b) 8 years, c) 10 years, d) 12 years 

a) 5 HICT, b) 8 HIT, c) 10 HIC+, d) 12 HICT 

44. What is the maximum limiting loss of section for 52 kg rail section 
a) 5%, b) 6%, c) 7%, d) 8% 

a) 5%, b) 6%, c) 7%, d) 8% 

45. At which depth from rail top is lateral wear is measured 
a) 10 - 12mm, b) 13-15mm, c) 15-17mm, d) 17-19mm 

a) 10-12 fit, b) 13-15 fuit, c) 15-17 feri, d) 17-19 frit 

46. What is the service life of 60 kg section rail at important bridges and their approaches? 
a) 800 GMT, b) 400GMT, ) 525 GMT, d) 500 GMT 

a) 800 yHt, b) 400 yti, ) 525 uiyc, d) s00 H 

47. Through sleeper renewal shall be considered if percentage of damaged or unserviceable sleeper 
exceeds 

a) 10%, b) 20%, c) 30%,d) 40% 

a) 10%, b) 20%, c) 30%, d) 40% 

48. BG Lines have been classified in to how many groups? 
a) S, b) 6, )4, d) 7 

a) 5, b) 6, c) 4, d) 7 

49. Cross section area of 60 kg (UIC 60) Rail section is 
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a) 60.34 cm,b) 76.86 cm', c) 76.86mm' d) 60.34 mm?. 

(a) 60.34 , b) 76. 86 , c) 76.86 farf, d) 60.34 fAI 



hmum depth of ballast cushion for all routes in case of Doubling. Gauge COnversIon && new le 

Construction works should be: 
a) 300mm, b) 350mm, c) 25Omm, d) H� À T 

a) 300 ft, b) 35o frrft c 250 frrft, d) 200 TT 

he case of through Girder Bridges on double Lines. the Guard rails should be splayed on 
a) both ends on both Line's, b) one end on both Line's, 
) No splaying to be done on anv Line. d) None of the above. 

52 Flange width of 60 kg Rail is 
a) 100mm, b) 136mm,c)200mm, d) 150mm. 
a) 100 fi, b) 136 fA, c) 200 fAf, d) 150 fA4TI 
53. Total Height of 60 kg & 52 kg Rails are a) 172mm& 156mm (b) 175mm & 160mm, ) 200mm & 150mm, d) None ofthe above. 

(a) 172 ft 3tr 156 fft, b) 175 fft 3r 160 fA, ) 200 ft 3r 150 fAHt, 

54. Variation in Tolerance of Finished welds on 1 m straight edge in vertical alignment should not be more then 
(a) + 2.Omm - 1.0mm, b) + 1.0mm- 0.0mm, c) + 2.0mm- .0mm,d) +0.0mm - 1.0mm, 
(a) +2.0 fAf- 1.0 fAt, b) +1.0 fft- 0.o fet, c) +2.0 f4t - 0.ofit.(d) +0.0 frt=1.0 ff. 
55. Joggled fish plate with clamps or two far end bolts on good AT weld shall be provided on banks having height of 
a) Sm or more, b) 6m or more, c) 7m or more, d) 4m or more, 

a) 5m 41 3416, b) 6m sI 6, c) 7m Y| 46, d) 4m sI terco. 
56. SWR on PSC Sleepers shall not be laid on area sharper than a) 400 m radius, b) 300 m radius, c) 440 m radius, d) 460m radius 

a) 400m fa, b) 300m f�uAL, c) 440m faul, d) 460m fI 

57. Steepest permitted grade for LWR/CWR shall be 
a) 1 in 200, b) 1 in 440, c) 1 in 100, d) 1 in 1000, 

a) 200 1, b) 440 4 1, ) 100 1, d) 1000 1, 

58. Maximum overall Length of Bridges permited on LWR depends on 
a) Temperature zone, b) Rail section, c) Both a & b, d)None of the above 



s9. 1° curve is having radius of 
a)1700m, b) 1650m c) 1790m, d) 1750m 

a)1700m, b) 1650m c) 1790 ter, d) 1750 cR 

60. Permissible speed on 1 in 82 symmetrical split with curved switches is 
a) 15 kmph, b) 45 kmph, c) 30 kmph, d) 10 kmph. 

a) 15 f>t ulà i, b) 45 feb41 ufa yci, c) 30 fbrft 9a yct, d) 1o fbit ufà VT 

61. Vertical curve shall be provided only at Junction of the Grade when the algebraic difference 

between the grades is equal to or more than. 
a) 4 mm per meter, b) 0.4%, c) Both of the above, d) None of the above. 

a) 4 feri afa Ater, b) 0.4%, c) 3U0ET 0t, d) 3utGT iÁaK T¾(I 

62. Robotic welding technology is used for in-situ reconditing of cms xing on all 
routes having traffic density more than 
a) 30 GMT, b) 40 GMT, ) 20 GMT, d) 25 GMT 

a) 30 yH, b) 40 yH, o 20 ¥sa., d) 25 utyHe 

63. The Length of short & Long chord /Base for track monitoring of Twist are 
a) 3, 15, b) 9, 18 c) 9, 15, d )3, 18 

a) 3, 15, b) 9, 18 c)9, 15, d) 3, 18 

64. While recording the track parameters on Line reports are generated by TRC for each block of 
a) 250m, b) 150m, c) 300m d200m. 

a) 250 fter, b) 150 fcr, ) 300 teR, d) 200 fie 

65. For section speed of 110 kmph & above, Track Quality for Very good track is 
a) Less than 1, b) Less than 1.5, c) Less than 2, d) Less than 5. 

a) 1 4, b) 1.5 # H, c) 2 H, d) 5 oH| 

66. Frequency of OMS recording is decided on the basis of 
a) GMT of the section, b) Sectional speed of the section, c) Availability of OMS machines . 
d) None of the above. 

67. Track Quality is representive of 

PAGE- 7 

a) No of peaks per Block section, b) Average total no of peaks per Km 
) unevenness 8Aligment d) None of the above 



68. How many steps Of conventional normal method Through packing as per para 607 of IRPWM a) 7, b) 6, c) 8, d) 9 IRPWMo tI 607 à a) 7, b) 6, c) 8, d) 9 

a) 

O3. Area prone to corrosion is identified by. a) PCE of the Railway, b) ) CTE of the Railway, c) Sectional Senior DivisionEngineer. d) None of the above. 
a) età I tit b) teà 1 ftsc) 
70. On Running Lines Lubrication of Rail Joints should normally be done once in Two year b) once in 3 year c) once in a year, d) None of the above a) at 

aTR b) 3 H 
71. Lifting of Track should not exceed a) 25mm, b) 75mm, c) 5Omm, d) 100mm a) 25 fA4T, b) 75 fi, o 5o fAt, d) 100 Ht 

T2. For renewal of 60 Kq rail section, the Limiting Loss in rail section is 
a) 5%, b) 6%, c) 7%, d) 3% 

a) 5%, b) 6%, c) 7%, d) 3% 
73. 60 Ka 90 UTS rails can carry, how much GMT. a) 800, b) 600,c) 900, d)700 60 foc 90 yfodf otyAa à GI YOI a) 800, b) 600, c) 900, d) 700 

74. TRT is a machine for 

75. GFN Liners are used in 

a) Mechanízed Laying of Track, b) Tamping machine, C) Ballast regulating machine, d) Ballast cleaning 

machine. 

a) Track circuted area, b) Non track circuited area, c) On Bridges d) None of the above. 

mm 

76. Railway Servant is eligible for Travell1ng Allowance if he away more than 

a) 8KM, b) 7 KM, )6 KM, d) none of these 
(a) 8 ft b) 10 t, c) 06 fa) 

77. Max DCRG as per 7th CPC? 
a) 10 Lakh b) 15 Lakh c) 20 Lakh, d) 25 Lakh 

a) 10 A b) 15 Id c) 20 Ta, d) 25 a 

PAGE 

from HQ 



78. Name the online grievance redressal machinery for Railway. 

a) NIVARAN, b) NIC, c) CPGRAM, d) PRAN 

(a) fAdRU, b) ;43T5, c) ftúu4, d) HH 

79. What is the maximum limit for paternity leave ? 

a) 15 days, b) 20 days, c) 25 days, d) 30 days, 

a) 15 f4, b) 20 f1, c) 25 fa, d) 30 fa 

80. Benchmark for APAR for MACP would be. 

a) Outstanding, b) Very Good, c) Average d) Good. 

a) 413CtIST, b) G H91, c) 3irHã d) 3T| 

81. Name the Railway station situated at the highest altitude in India is 

a) Shimla b) Mt. Abu c) Darjeeling d) Ghum. 

a) fRTHGII b) HIJT 3T< ) IcT d) q4 

82. Diesel Locomotive works (DLW) is situated at -

a) Kapurthala b) Varanasi c) Perambur d) Bangalore 

a) 4I b) aRIUFH0 ) g d) �R 

83. Full form of HRMS is -

a) Human resource management system. b) Human resource managenment software. 

c) Human resource management school. d) None of the above. 

84. E-pass is applied through the module 
a) IREPS b) IRWCMS ) HRMS d) GeM 

85. RDSO is situated at 

a) Lucknow b) New Delhi c) Kolkata d) Mumbai 
RDSO fRa. 

86. How many days in a year is credited on account of leave on average pay (LAP) of a 
Railway servant. 
a) 25 days b) 30 days c) 15 days d) 40 days 

a) 25 fe b) 30 fac) 15 fe d) 40 f 
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87. How many days in a year is credited on account of leave on half 
average pay 

(LHAP) of 
Ralway 

servant. -
a) 10 days b) 20 days c) 15 days d) 25 days. 

(a) 10 f b) 20 fc) 15 f d) 25 f | 

88. How many sets of Privilege passes are admissible for non gazetted staff 

a) 3sets of passes in a year from 6th year of service. b) 6 sets of pass in a year from 6th year 
ofservice. 

) 2sets of pass in a year from 6th. year of service. d) None of the above. 

89. Standard Form No, 7 is used for issuing appointment of I.0. 

(a) Major Penalty Charge Memorandum, (b)Minor Penalty Charge Memorandum 

(C)order of appointment of Inquiry Officer/Board of Enguiry.(d)Order of Suspension. 

90. Which of the following authorities does mean the "appointing authority" in relation to a Railway 

Servant under DAR 1968? 

a) Authority competent to appoint him in his present grade/service. 
b) Authority which appointed him initially to Railway service. 
c) Authority which appointed him to his present post/grade/service 
d) None of the above. 

d) 34TÏI 

91. A copy of Suspension order may not be given to.. 

(a) The suspended employee, (b) The Controlling Officer, (o) The recognized Unions 
(d) The concerned Personnel Officer. 

92. Which of the following is not termed as penalty under DAR 1968? 
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(a) Censure, (b) withholding of Promotion, (©) Suspension, (d) with- holding of Pass/PTO 

g3 Which of the following deduction is prohibited from Subsistence allowanca? (a) House Rent, (b) Income Tax, (c) Court attachment, (d) Station Debite 



94, What is the time limit for filing appeal against the punishment 
order of disciplinary authority? 
(a) 30 days, (b)45 days, c) 60 days, d) 90 days 

() 30 fa1, (�) 45 fe, ) 60 fa, s 9o fa 

95. A railway servant under Suspension is entitled to... 
(a) Leave his Head quarters. (b) Have Passes for attending P N M/JCM etc. c) Act as Defence 
Counsel. d) Get sick leave. 

96. A Major penalty charge memorandum is required to be issued on 
a) SF 11, b) SF 5, c)SF 3, d)SF 4. 

H11, �) YHF 5, ) qHE 3, Sh yHys 41 

97. A Minor penalty charge memorandum is required to be issued on 
a) SF 11, b) SF 5, c)SF 3, d)SF 

yHy 11, ) yHs5, t) yH5 3, s) qHy5 41 

98. A Major penalty charge memorandum contains 
(a) il (b) lIl (c) IV (d) VI 

99. in a disciplinary case while under suspension the railway servant after a disciplinary inquiry is 
awardeda minor penalty only, the period of suspension to be treated as 
(a) suspension only (b) leave at his credit (c) duty (d) none. 

numbers of Annexures. 

100. What would be the status of Disciplinary case in the event of death of the charged official ? 
(a) Punishment may be issued. (b) Cutting Pension may be done, (c) DCRG will be withheld 

(d) Disciplinary proceeding should be closed immediately 

101. Under Official Language Act, Hindi means 
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a) Hindi in Devanagari script, b) Hindi in Hindi script, c) Hindi in roman script, d) None of the above. 

102. For implementation of official language india is divided in to how many regions 
a) 4, b) 3, ) 5, d) 2. 

a) 4, b) 3, c) 5, d) 2. 



Write Hindi equivalent for the following 

103. Regretted 
a) tfed, b) dtpd, ) ^I4E, d) 3UI Ì 

104 Junior Engineer 
a) 3qHT 3GL, b) bfg 3f4I, ) HEIYE 3fddt, d) gyidt H t Ti 

105 Approved 

106 Draft 

a) fH, b) Iay, c) 3c4IGRYE, d) JURIs 

107 Salary 
a) H$I` l, b) �d, ) TkdET I, d) guiG sd 
108 Promotion 

a) 316f# 3GORI, b) HRTS 3goRI, C) Yad, d) 3sTd S T0 
109 Note 

a) 4ã, b) feutu, c) II44, d) J4RIG À Hi 

110 Qualification 



{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

